> I:]‘%ﬂ e Bt 258 A2 vt tehd

612 615 © 620
., 1000 1000 1000
0.61 @ 0.615 0.619 0.62
19 19
D 0.63, 6611090 @ 0.612, 6611720 Qo 612, 1000
) 61
® 0.63, 1000 © 0.619, 1000




1.24




3. &4 UEhle o Uireldel 27 ghe Ze ol

225 3 27 2
O 1000 @ 20 ® 40 @5

~&B

225
=== —0.22
@ 1000 2%
3 3x5 15
— = =— =0.15
@ 20 20x5 100
27 27Tx25 675
= = =—— —0.675
® 40~ 40x25 1000
2
@ 5 =2+:9=0222---
7 7Tx125 875
— = =— —=0.875
8 8x125 1000




& 0] 2715 Hlaste] O el >, <

3
- 0.2
5 O

iy

vV V¥
0

i

v

3 6 3
= _—_=06°2Z > 0294t}
= 10 0.6 ] 5>0 qu




o
I
oln

126

-

ul

JAY

54

-

ul

6804
6.804

.I
.I

whabA 126, 54, 6804, 6.804 YUt

>



= A=z AUt A 19 fl-sHS Fot 242
-1 =2
1 T o H
M =




ol H em JU7?

ol

ol
O

bk

T--6cm- -~




@)% W 1 71917ke] 2712 9 o

® Al Ztef 2718

el

o

[e]

ogarigd

gyl

o
e
N

237}
=

Bl

3} 71 717k 27)7F Fol




ofof gt

o}
=l

M

= o] Zojo} 1 Aol o] 71917ke] 7]







®
A
—1'_"
H
A

@

/1\:]_]:]

2 A
a

AR
=
o] ol
L@;
e
01
o 3
]4
ch

R




7t

[e)
A

J

o
ot

™

o]
B X
_O_E 0_0

&E oy
y &
of J|
i =
RO '
Gl




13. tee AR
oure ZAn

\VARR 4
0x
i

40°

ARAEGIA thzte] 271 ZaYr




v Vv v Vv
X

0

032. 3 O‘%_-%—
reEge

—'—HEHE& AL

Ct -

[= )

Ct -

| — I

B HAdA =9

SR E R

RO
R




el

O

—

_XO

J‘
%A
e

B
8o

—

_ZO

o

No
B

oln




5
— =25
= 10(%
10— =10.01
2 100

® 0.5 = 0.51 2o} FYh

~&B

5 5
@21—00_2+m_2+0.05_2.05

1 1
@ 10ﬁ =10+ 5 = 10 + 0.01 = 10.01

® &4 ol o] &= S oA genz 065 = 4
Skl o5yt

@ 17.07 = AEA F™-olzta ¢sUth

® 0.5 < 0.51




ol

.
—_—

1.075

3
10

3
@11 ®)1

3 3 3
1 ®1OE @1%

D 10

75
1000

140.075 =1+

‘ 1.075




18. 207} 3.645me £UH7E Qg o] 21479 ol B mal
e EEREENITS
189 129 121
2 327
@ 3655 m 3300 ™
645 129

1000 — 5200 ™




iy

vV V¥
0

AL

A

75

= olmg
00 =0.75 °] 0.25 < 0.75

e
1




01259 A7t e B42 n

20.

2
16

1
8

125
1000




21.

ot

430 x 260 = 111800 & &1, th& [ | ¢tol ¥k 5 4
ox Q.
43x[  ]=1.118
> E=
> =EeHD 0.026
1
_ o] oF < =59
430 x 260 = 111800 2] FH ] T =5k
=111
430 x 260 x 100000 800 x 100000

43 % 0.026 = 1.118

[ ]=0.026




ol
RS
olJ
K

uf-
ol
T

ol

0
O

_
N

T oy oy

@), o, =t

@ 7L v, o
® o, =

® 7}
@ 1t 2




23.

27 x 43 = 1161 & o]-g-oto] Al4to] B £57S A2

7RIy

@ 0.27x43 = 0.1161
@27 x 4.3 =116.1

D 2.7x0.43 =11.61
@ 27x0.43 = 1.161

® 0.027 x 43 = 0.1161

B

@ 2.7 x 0.43 = 1.161
@ 027 x 43 =11.61
® 27x0.43 = 11.61
® 0.027 x 43 = 1.161




24. TS % Zo] 2 ARH A2 7|52 »A Q.

@ 2.7145x 10 © 2745 x0.1

© 27.45x 100 ® 274.5x0.01

iy

it

0
i

0
o

VVVYYVYVY
i
® 0 & @

0
m

~&B

@ 2.745 x 10 = 27.45
© 2745 % 0.1 = 274.5
© 27.45 x 100 = 2745
® 274.5 x 0.01 = 2.745
2745 > 2745 > 2745 > 2.745 olmg
wol 2 ARH A2 7|28 2 6, ©, @, @JYth




